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Ways in Which Lines Can Intersect

Each of the following pairs of equations forms
a linear system.

Think about their graphs to determine the

nwmb e Cqb?o;«\‘rx where luwey aross.

a) y=2x+4 b) y=2x+4 c) y=2x+4 d) y=x-3
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In Summary:

For no solution:

For exactly one solution:
different slopes only.

For infinitely many solutions:

same slope and same y-intercept.

same slope and different y-intercepts.

summary
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We classify the systems of equations as follows:

N

consistent inconsistent
(at least one solution exists) (no solution)
dependent independent

(Inflnltely many SOIUtionS) (exacﬂy one So|ution)

consistent/ Inconsistent

Ex1. Determlne the number of solutions to
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Ex.2. What value of a gives a system with no
solution?

X(a-1)-y+6=0

2x+y-3=0

exz

Ex3. Given y=2x+5, write a second equation such that
the system has: i) no solution
ii) exactly one solution
iii) infinitely many solutions.

exd
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Assigned Work:
p.69#1,3,5,7,8, 13ac
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